[deg]

1 do
0

Ratio to CMS

13000 GeV pp

dA(p12

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

= I
0.3 AQ(jj) (CMS back-to-back jets)
-~ m CMs
-~ --©-- Pythia 6.428 390
0.25  -8- Pythia 6.428 391
- % - Pythia 6.428 392
-~ Pythia 6.428 396
0.2 | --=*-- Pythia 6.428 397
| --*-- Pythia 6.428 398
0.15 —
0.1—
: .‘a‘a”:,'é
- P
005 _ _ s___:__'!F_-.ﬂr?!’f:fa
: ‘-‘r.’:é??;‘?-'f"' ="
N H | | | L | | |
:l 1 1 1 1 [ 1 I |:
2 | E
1 | §='—=;::: _:_:,f‘—_ —:;-::-.f-@ii‘if.zg:;i;;_&;‘ih:—,t;_ srgss= ::-:“‘*l —
i e
0.5
| " 1 1 " 1 1 " | " 1 " 1
170 175



	Contents
	Page 1


